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/ 1. MEANING OF LAND
often used ina wider sense. It does not % :
he soil, b ncludes all those natpral resources whicha'rg%"}:
s the su{face;) i;t:re ]{ thercfore, means all the free gl.t-'ts of nature. These "k
fr.ee glﬁls 3 . (i) rivers, forests, mountains and oceans: (1) hea_t.?fs‘.m’ light CMH!M ; ..
B uraei:r'xfall etc. which are above the surface of land, (iii) minerals Undcﬂ&
e f the ea’nh such as iron, coal, copper. water. et¢. According to Marg
surface of th s which nature gives freely for man’s oy :

: ials and force

“Byland is meant... materiais < T .
" Therefore, land is a stock of free gifts o St

land, water, aif, light and heat. he g f nﬁtnré,-;; ,

3 CHARACTERISTICS OF LAND

Land possesses the following characteristics. ERES
Nature. Man has to make eftforts in order to acquire other

|. Free Gifi of : ,
{ to acquire land no human efforts are needed. Land ispg

factors of production. Bu 1d no -
the outcome of human labour. Rather. it existed even long before the evolutionef

rnan. _ ’ o
The total quantity of land does not undergo any change.

2. Fixed Quantity. . _
It is limited and cannot be increased or decreased with human efforts. No alteration

can be made in the surface area of land.
3. Land is Permanent. All man-made things are perishable and these may

even go out of existence. But land is indestructible. Thus it cannot go out of
existence. It is not destructible.

4. Land is a Primary Factor of Production. In any Kind of production process,
we have to start with land. For example, in industries, it helps to provide rw

~ materials and in agriculture, crops are produced on land.

.5. Land is a Passive Factor of Production. This is because it cannot produce
arrything by itself. For example, wheat cannot grow on a piece of land automatically-
To grow wheat, man has to cultivate land. Labour is an active factor but land 52
passive factor of production.
instange,ld::(; (’)S rtli’grgﬁﬁ[de{ I’t cannot be transported from one placet0 anot:f;gf

7. Land has some Or? X Sl;rface . be rapsporiec fajSols oS
and indestructible powers ofglmad lnd?stnzctzble Paers. Thetc, 22 00 vonav
varied but it cannot be destro E}:d, which a man cannot destroy. Its fertility 2%

,8' Land Differs in F. erti[i‘vty ;'?C:r?ll?-le.wh:a - - ieces oﬂaﬁd" :
One piece of land may produce. Lpafind ditesondufee s |

‘ more and the other less.

n economics is

‘Land’ i : )
The term ut iralso !
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9 Supply of Land is Inelastic. The demand for a particular commodity makes

way for the supply of that commodity, but the supply of Jand cannot be increased
oF dectGaSCd according to its demand.

10. Land has Many Uses. We can make use of land in many ways. On land,

one, factories can be set up, roads can be constructed, buildings

cultivation can bed e, fact an be
can be raised and shipping 1s possible in the sea and big rivers.

» A RS AFRECTING PRODUCTIVITY OF LAND




reward.”

6. CHARACTERISTICS OF LABOUR

Labour has the following peculiarities which are explained as under:

L. Labour is Perishable. Labour is more perishable than other factors of
production. It means labour cannot be stored. The labour of an unemployed worker
is lost forever for that day when he does not work. Labour can neither be postponed
noraccumulated for the next day. It wil] perish. Once time is lost, it is lost forever.

5/Labour cannot be Separated from the Labourer. Land and capital can b¢
Separated from their owner, but labour cannot he separated from a labourer. ljabm_u‘
and labourer are indispensable for each other. For example, it is not posslble,m

by o ¢
bring the ability of a teacher o teach in the school, leaving the teacher athome



ristics of Land and Labour

haract® her can work only if he hj 243
r of a teacher ¥ 1T he himself is present i
i jabou and labourer cannot be separated from each other. the class. Therefore,

i 1abf’“r? ~ ess Mobility of Labour. As compared
3 ' ie‘;;‘;nobile Capital can .be eaSi]y transported
is ot be transported easily from its present p
,c:;t ready to 2010 far off places leaving his nati
mobility- Le

4 Weak Bargal.mng Power of Labour. The ability of the buyer to purchase
Joods at the lowest price and the ability of the seljer to

s s sell his goods at the highest
~ \ssible price is called the bargaining power. A labourer sells his labour for wages

and an employer purchases lapour by paying wages. Labourers have a very weak
pargaining power, because their labour cannot be stored and they are poor, ignorant

and less orgar_ﬁsed. Morepver, labour as a class does not have reserves to f:ll back :
ypon when either there is no work or the wage rate is so low that it is not worth
working. Poor labourers have to work for their subsistence.Therefore, the labourers

have a weak bargaining power as compared to the employers.

3. Inelastic Supply of labour. The supply of labour is inelastic in a country at
aparticular time. It means their supply can neither be increased nor decreased if the
need demands so. For example, if a country has a scarcity of a particular type of
workers. their supply cannot be increased within a day, month or year. Labourers
cannot be “made to order’ like other goods. The supply of labour can be increased
to a limited extent by importing labour from other countries in the short period. The
supply of labour depends upon the size of population. Population cannot be
increased or decreased quickly. Therefore, the supply of labour is inelastic to a
great extent. [t cannot be increased or decreased immediately.

AA. Labourer is a Human being and not a Machine. Every labourer has his
own tastes, habits and feelings. Therefore, labourers cannot be made to work like
machines. Labourers cannot work round the clock. like machines. A fter continuous
work for a few hours, leisure is essential for them.

V. A Labourer sells his Labour and not Himself. A labourer sells his labour
for wages and not himself. *The worker sells work but he himself remains his own
property’. For example, when we purchase an animal, we become owners of the
services as well as the body of that animal. But we cannot become the owner of a
labourer in this sense.

8. Increase in Wages may Reduce the Supply of Labour. The supply of goods
increases, when their prices increase. but the supply of labourers decreases, when
their wages are increased. For example, when wages are low. all men, women and
children in a labourer’s family have to work to eamn their livelihood. But when wage
rates are increased, the labourer may work alone and his wife and children may stop
working. In this way. the increase in wage rates, decreases the supply of labourers.
Labourers also work for less hours when they are paid more and hence again their
Supply decreases.

> Labour is both the Beginning and the End of Production. The presence of
lafld and capital alone cannot make production. Production can be started only
With the help of labour. It means labour is the beginning of production. Goods are

to capital and other goods, labour
from one place to other, but labour
lace to other places. A labourer is
ve place. Therefore, labour has less
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s WHEN WE COnSume them, pg%i%

jsfy humat VoL eginning and the end of prog, . M

d. Theret  ihe Efficiency e e f_
cn,fg Differences 1" fh? , {ﬁ; nt due to their ability, training ang kilt
s mmﬁmc’“ e 2112 v lonoran il
.+ on account of their illiteracy. ignorance, ete,

1 for Labour The consumer goods like breag
direct demand as they mmf’y our wants dipsce,
s indirect. They are den

g:;;!:: mmrf: ;mh satisfy our wants, 50 the demand for %w

upon the demand for goods “h..;hmc; ﬁflr'etf{ ::;f::a'ml hs:f;i?c.tae e
labourers arises because of thew I"‘_’j Gty -"* pacity e produce m _
12 Difficuit to Fimd out the Cost of 1 e "3'*- tiom of Labour We Cat o
calculate the cost of production of a machine. But it 18 not casy 10 calculate gy
of production of 3 labourer ic., of an advecate, teacher, docior, ete. If 5 o
becomes an engineer af the age of twenty, it » difficult to find out the wm
his education, food, clothes, etc. Therefore, it s difficult to caleutate ghe Mﬁ
production of a lshouser. g
““V3. Labosr creates Capital C apatal, which i considered a3 3 separate m
of production is. in fact, the result of the reward for abour Labogs tmwﬁk
way of production. We know that capital is that portion of we: rohevybi
cam income. Therefore, capetal is formulated and P of wealt which is wedy
that labour is more gmm‘m - ﬁ U &f_ o ‘?“Lm?umi‘d by labour ltisevids
ol i e i process of production than capital becast
cap,t?! 18 the result of the work ing of labour apital becast
<14 Labowr is qn Active Factor of Product:
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Process. Production from land and'mpxul

Production begins with the Marts only when a man makes efios
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2. CHARACTERISTICS OF CAPITAL

th
has its OWN peculiarities which djstin

Cﬂpim . - Capital possesses the followin .

ction- 2P : vIng main characteristics:

u . Man P roduces Capital. Capital is that wealt;riitli'cs}.l :

ion of goods. Capital is the result of human laboyr Tltf 1s used in the
. Thus

guish it from other factors of

duct : e |
% - uch as roads, machines, buildin : , every type of
such a > gt gs and factories e p
;apsu:pmduwd factor of production. te. are produced by man,
ti

2. Capital isa Passivq Factor of Production. Capital cannot .

e help of the active services of labour. To produce with mac}})lrjzduc«le wﬁhogt
;equifed' Thus, labour is an active, whereas capital is a passive factor o;:;rozz‘;’f is
Capital on 1ts. OWr.l cannot produce anything until labour works on it. s
3 Caprtal isa P,~o.ducea’ Mgans of Production. The composition or suppl
of capital is not automatic, but it 1s produced with the joint efforts of laboul;palzlzll
nd. Therefore, capital is a produced means of production.

4. Capital is Variable. The total supply of land cannot be changed. whereas
the supply of capital can be increased or decreased. If the residentscof 2,1 country
produce more or save more from their income, and these savings are invested in
fctories or capital goods, it increases the supply of capital.

5. Capital is more Mobile than other Factors of Production. Of all the
factors of production, capital is the mostm obile. Land is perfectly immobile. Labour
and entrepreneur also lack mobility. Capital can be easily transported from one
place to another.

6. Capital Depreciates. As we go on using capital, the value of capital goes
on depreciating. When machines are used continuously for sometime, these
depreciate and their value falls.

7 Capital is Stored-up Labour. Scholars like Marx admit that capital is stored-
up labour. By putting in his labour man earns wealth. A part of this wealth is spent
on consumption goods and the rest of it is saved. When saving is invested, it
becomes capital. In other words, capital is the result of accumulation of savings of
dman. Therefore, capital is stored-up labour.
e ai Capital is Destructible. All capital
£ e eent. Because.of the continuous use, mac

passage of time.

goods are destructible and are not
hines and tools become useless
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